EARAROBREBRT —5 XN—ZXBISH—F 2021E128148 () 19EIEHSH

NS C2— YSR3mL B
[AXE%) 1 &:600,000 ~ 23#&:240,000 9  337%&:150,000 M  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
§ » v 3| TRE 1:33.9 3-3-4-3 |38.5| — 2 525 | KEAEB (Fak)
11111 | A¥N—hFTU=X 56.0 ) “3) 7(%&) KNBAR—ILT « VT Z
R:O—RAHFO7 BRAR—bA—I vV e
. TIAED : -1-1- - BAE— (Fh)
)55 |rTO—Fv7 4 3 T 1.(33%.4 1-1-1-1 | 39.2 5 (4_518) f?éE-E
Ri€v/07J04 BZZUARI— REORUS
~, 5 4 | SRER 1:34.5 4-5-6-5 |39.0 — 1 474 | EEXE (BH)
N ) REECEE Y2 g g% b (y | EE@AE
R:F4—TFAVINT N B:OA EBRT7—L1L
—3 s 5 | ROEBELIR 1:34.6 2-2-2-2 |39.3| - 9 | 426 |WCIEE (k)
RYVYRUIURIR B:=Y/XLE S
=y = B o5 | S 1:34.9 10-10-3-4 |39.4| - 8§ | 489 | ABE= (EMH)
51717 777TEL 56.0 (1 3/8) (6 |BREER
RFAVITIRY B:T4—IRAN—h BEiis
S B o6 | XHFEH 1:35.0 6-6-8-8 |39.3| ~— 4 | 430 |ENEEE (FEE)
6|8[10] ¥/ —=F1L 5.0 72 Cy |EE
RiAIWTT—II B:F7AT7LILE— HBEIT7—LA
N\ — 4 4 | FLEEX 1:35.0 8-8-9-7 [39.1| — 6 455 | MEEHE— (EM)
] 4| A—N—=FTAh— 56.0 (71) 1) “@ *397%8
RiFA—=TAVNT S B:FUFV—FYRITA FIITHIE
~ {ELARHRE : -3-5- - FRAIRX ()
glglo9 FYFUHY R 4t 4 =0 (;?é)) 4-3-5-6 | 39.5 3 (4_055) UJI:I%%
RivELDA— B:NYRRFD e N ]|
— o = L~ i e AR : -6-7- - )|t (EE
9 3| SAFAVIRYR 4 3 54_0%EI7- 1.(315).2 7-6-7-8 | 39.5 7 (4;150) Eﬁl?é: (EmE)
RiFRF BHYIA-I TATAT7—L
W R, S £ 6 | ALIBEAED 1:35.4 8-9-10-10 | 39.4| — 10 | 493 |WOUEE (Fl)
101718 | ¥V RRwT 254.0 (1 1/4) () |SEES
RiNA40 B:ARAUVITIN—5 KRS
@ 11— —BERIEI
13—7F— 5,6,1,(2,9),10,3, (4,8) ,7
20— — 5,6,(1,9),2,(3,10),4,8,7
3J0—73— 5,6,7,1,9,2,3,10,4,8
40—7F— 5,6,1,7,2,9,4, (3,10) ,8
0 ILRE
BB 1 310 JA R 1-5 510 & 1-5 2,880M 3ER 1-2-5 5304
B B 1 120H 1-2 130M 5 & =5 2,720 3Es =52 7,750
5 2404 2-5 310 oS- 1 1-5 4,510
2 100/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



